(0 ¢) (rad)

Ratio

SICEWATL

o 1023k ;
< F . 4 ¥
g 1.9F------ 41 4 4 B
o +1 1 +4
E s
I=------1 =1
E * b + -+
—
s
o
-
o
o
=
o
+
b
L
3
4 !
o |
=T SO A I BT S 11 A 1 A I
g -+
Y

—
—e— DQM_V0001_R000000001 Global
—— DQM_V0001_R000000001__Global
—— DOM_V0001_R000000001__Global__

2 3
TPlpoT (PCA t%obeamliné[f)

5 | 5
‘g i :
T St ST
o E :
1072 Lodopdns
i 1Tkl
O i AL
910 i: Ll |||||||! L
g sk | T R S
e
10t 1

2 3
TPlpoT (PCA t%obeamliné[f)

SSW_CKTPUSU__RECO
CMSSW_mkFitPUS0LowPtQuad__ RECO
—_CMSSW_LowptQnoclean_ RECO
CMSSW looseSC__RECO

oloa,) (cm)

1072

1::

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


